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(t) All the four questions are compulsory.

, (il AII questions carry equsl weightage,

1. Answer the following question in about 600 words.

Explain different theories of learning. Discuss the factors

that facilitate learning.

OR

Describe the different aspects of child development. Explain

how teaching is concerned with the various aspects of the

development of child.
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2. Answer the following question in about 600 words.

What is co-operative learning ? Briefly explain its different
methods.

OR

Discuss the importance of pupils' participation in classroom
talk. Describe teacher's role in facilitating pupils'
participation.

3. Answer any four of the following in 150 words each :

*l|'if :i# :#f :"" 1'J'::''::::i:::
(ii) Discuss the objectives of learning. Why are they called

pillars of learning ?

(iii) 
[::ilffj;;::il"il",';:::"'shourd 

take wh'e

(iv) What are the different possibilities of student's
response to teacher's questions ? How should a
teacher deal with them ?

(v) Describe the components of classroom management.

4. Answer the following question in about 600 words.

Explain the concept of pupils' evaluation. Discuss different
tools you used in recording pupils' progress of your class.
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(i) sd. ??*'oq" etffi d t
(ii) s?if' ygiil Efi' qrffir vql d I

t. ffi TST s1 strt $rTqT{ 600 q1-qi fr efrq I

snrrrq t fqFrd ffimtf sl qr€ITT r eTnrrrq
qi gFtilWt q{r+ art snqit qfr qqi fifqq I

swrqT

E[Ff,-ltft5H s lqrqq qHT 6T quH 6TitIi- t r 6,iiqq

fr ftwT trs :F$R d t |r*m t RRq qqif t
Hqtr{d i I
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3 .

2- ffi ssT s't sf,{ Hrrrrr 600 lrdi fr {fqq I

fu REIT f*.il 6dt t ? {rdr frFr* frfbq}
sl Sfu fr qrcn'fifqq l

gTTET

sqilTra Eril+n fr 6H) q1 TmqrFrilr + qiln q{ qqt
qiFK r en] H1 qerTrFrnr +1 Ep-rryt qqTi q ft*'-d
C Ttrsr sT q"h drfqq I

ffi q t ffi ar sr rn{ frrqq rr*+ sn{
st vrq tiqT Wrrrq 150 yrq E) |
(i) qds. spr ft) sssl 3rcrv{Tcndr q{ qTqTRn B{Srq

Tqrr qri q RRTur+TrlrTq HTqffi q} rqr{-ilnT
RRr-s s1 fu's strnn TEr{kTr 6rfr t ?

(ii) sTfBrrq t stvq qnrqq r Vt eTflrrm t rdEq R)
s6r' qftrr t ?

(iii) mg-qlF rftTHrirqT + qntqr fr RTqffi s1 qEil
qrEsTrtrqi Erdql qtfdq ?

(iv) RRrs * qFT T{ RrenTr$q} t sn{ c rqfia
e{-Jffi ril E} H6nT t ? fun6 *} s{o *fr
f{q-d{r qRq ?

(v) sqTl-ntr;wT t, q-{*T .Fr E"fT slFN I

ffi sFT sr w{ ET{,T 600rr<} fr {FK I

sri t {Fiffi q1 €qrqqT ws slFrq | 6n-q'Tfr
+ eTFffiH t s{ trF{r wqq} s1 *f ffi q}
s{rq} erqqi 6qT t ftg qgin frq I

4 .
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